ESolutions ASSIGNMENT #6 MATA33 (1) Section 2.8 Problems  $\#_{2} f(x,y) = 3x^{2}y - 4y \quad f(2,-1) = 3(2)^{2}(-1) - 4(-1) = -8$ #4 q(x,y,z) = x2yz + xy2z + xyz2  $q(3, 1_{1}-2) = (3)^{2}(1)(-2) + (3)(1)^{2}(-2) + (3)(1)(-2)^{2}$ = - 18 - 6 + 12 = - 12  $^{+8}$  g(PA, PB) = PA PB +9 g(4,9) = 4 -9 +9 = 57  $\frac{\pm 10}{10} F(x, y, z) = \frac{2x}{(y+1)z} F(1, 0, 3) = \frac{2}{(1)(3)} = \frac{2}{3}$  $\frac{12}{12}f(x,y) = x^{2}y - 3y^{3} f(r+t,r) = (r+t)r - 3r^{3}$  $= r^{3} + 2r^{2} + t^{2}r - 3r^{3}$  $=r(t^{2}+2rt-2r^{2})$ #16 A plane parallel to the y, z-plane has the form x= k where k is a constant (see page 119 and the diagrams there). : (-2,0,0) is on the plane, k=2 so the equation is x=-2. #18 Any plane parallel to the y, z-plane has (as in #16) general equation X=K, k is a constant. : the point (96, -2, 2) is on the plane, we have K=96, so the equation is X=96 

#20 We sketch the surface 2x+y+2Z=6. Solution: The surface is a plane because its equation has the form of the equation of a plane : Ax+ By+ Cz+ D=0 (p.119) The plane intersects the coordinate axis at the intercepts. X-intercept - sub-in y= z= 0 - x= 3 Point is (3,0,0) y-intercept + sub-in X= == 0 y = 6Point is (0,6,0) Z- intercept - sub-in X=y=0 -2= 3 Point is (0,013) F Plane is the "surface (0.0.3) y, 2- trace (y+22=6) X, Z-trace (0,610) (x + z = 3)(3.0.0) x,y-trace (2x+y=6)XK Only that part of the plane in the 1 octant is shown. The plane continues in the directions of the arrows



#24 We sketch the surface y= 32+2. Solution: The surface is a plane because it can be written in the form of a plane in  $\mathbb{R}^3$ : Ax + By + Cz + D = O (p.119) Here: A=0, B=1, C= -3, D=-2 3 The y, 2-trace is y=32+2 (that is the line of intersection of the plane and the y, 2-plane). Since x is missing from the given equation, x can assume any real value.  $\therefore \forall x \in \mathbb{R}, we have the line <math>y = 3 \neq 2$   $4 \neq \text{Intercepts are (is points)}$   $\frac{1}{-3} \qquad (0,0,-\frac{2}{3}), (0,2,0)$ "For All" 2 planar surface is that for the plane y = 3z + 2

#26 Sketch the surface y= Z2 Solution: The y, z-trace is the parabola y=z2. Since x does not appear in the equation, x can take on any real value. Surface is ~ "upperpart" and of parabolic sheet "lower part of parabolic sheet X



(4)#28 We sketch the surface x2+4y2=1 Solution: The x,y-trace is the ellipse x2+4y2=1 (this is the intersection of our surface  $x^2 + 4y^2 = 1$  and the x, y - plane (i.e. z = 0) Since Z does not appear in the equation of the surface, z can assume any real value. Surface is the "wall" (Extends thru 270) (0,-2,0) -1,0,0) (0, 1, 0) (1,0 xy-trace) The surface Ellipse x2+4y2=1  $3x^{2}+2y^{2}=1$ where z=0 is drawn in a (extends through zeo) similar way ) trace 2 Section 17.1 Problems #2  $f(x,y) = 2x^2 + 3xy$   $f_x(x,y) = 4x + 3y$  $f_{4}(x,y) = 3x$ #6  $q(x,y) = (x+1)^2 + (y-3)^2 + 5xy^3 - 2xy^2$  $g_{x}(x,y)=2(x^{2}+1)(2x)+5y^{3}-4xy^{2} \quad g_{y}(x,y)=2(y^{3}-3)(3y^{2})+15xy^{3}-4xy^{2} \quad g_{y}(x,y)=2(y^{3}-3)(3y^{2})+15xy^{3}-4xy^{3}$ Canalso write 1 as 29 (xiy) and 1 as 29 (xiy)

$$\frac{\#8}{9} g(\omega, z) = \sqrt[3]{w^2 + z^2} = (w^2 + z^2)^{\frac{1}{3}}$$

$$g_{\omega}(\omega, z) = \frac{1}{3} (w^2 + z^2)^{-\frac{2}{3}} (2\omega) = \frac{2\omega}{3(\omega^2 + z^2)^{\frac{2}{3}}}$$

$$g_{\omega}(\omega, z) = \frac{1}{3} (w^2 + z^2)^{-\frac{2}{3}} (2z) = \frac{2z}{3(\omega^2 + z^2)^{\frac{2}{3}}}$$

$$\frac{2z}{3(\omega^2 + z^2)^{\frac{2}{3}}}$$

$$#10 \quad h(u,v) = \frac{8uv^{2}}{u^{2}+v^{2}}$$

$$h_{u}(u,v) = \frac{8v^{2}(u^{2}+v^{2}) - 8uv^{2}(2u)}{(u^{2}+v^{2})^{2}} = \frac{8v^{2}(u^{2}+v^{2}-2u^{2})}{(u^{2}+v^{2})^{2}}$$

$$= \frac{8v^{2}(v^{2}-u^{2})}{(u^{2}+v^{2})^{2}}$$

$$h_{v}(u,v) = \frac{16uv(u^{2}+v^{2}) - 8uv^{2}(2v)}{(u^{2}+v^{2})^{2}} = \frac{8uv(2u^{2}+2v^{2}-2v^{2})}{(u^{2}+v^{2})^{2}}$$

$$= \frac{16u^{3}v}{(u^{2}+v^{2})^{2}}$$

$$\frac{\#_{14}}{14} h(x_{1y}) = \frac{\sqrt{x+q'}}{x^{2}y + y^{2}x} = \frac{(x+q)'^{2}}{x^{2}y + y^{2}x} \\ h_{\chi}(x_{1y}) = \frac{\frac{1}{2}(x+q)^{-\frac{1}{2}}(x^{2}y + y^{2}x) - (x+q)'(2xy + y^{2})}{(x^{2}y + y^{2}x)^{2}}$$

$$\begin{aligned} & \underset{y}{\overset{W_{2}}{(xy)=(x+a)}} (x+a) \underbrace{(x^{2}y+y^{2}x)}_{(x^{2}y+y^{2}x)} (x^{2}+2xy)} = \frac{-\sqrt{x+a}}{xy^{2}(x+2y)} \\ &= -\frac{(x+a)^{V_{2}}(x^{2}+2xy)}{(x^{2}y+y^{2}x)^{2}} = \frac{-\sqrt{x+a}}{xy^{2}(x+y)^{2}} \\ & \underset{y}{\overset{W_{2}}{(x+y)}} (x+y) \underbrace{(x+y)}_{(x+y)} (x+y) \underbrace{(x+y)}_{(x+y)} \\ & \underset{z}{\overset{W_{2}}{(x+y)}} = \frac{\partial^{2}}{\partial x} = 3x^{2}e^{xy+3x+3y} \\ & \underset{z}{\overset{W_{2}}{(x+y)}} = \frac{\partial^{2}}{\partial x} = 3x^{2}e^{xy+3x+3y} \underbrace{(x+y)}_{(x+y)} e^{xy+3x+3y} \\ & = (3x^{2} + (x^{3}+y^{3}\chi)y+3) e^{xy+3x+3y} \\ & \underset{z}{\overset{W_{2}}{(x+y)}} = \frac{\partial^{2}}{\partial y} = 3y^{2}e^{xy+3x+3y} \underbrace{(x+y)}_{(x+y)} e^{xy+3x+3y} \\ & \underset{z}{\overset{W_{2}}{(x+y)}} = \frac{\partial^{2}}{\partial y} = 3y^{2}e^{xy+3x+3y} \underbrace{(x+y)}_{(x+3)} e^{xy+3x+3y} \\ & \underset{z}{\overset{W_{2}}{(x+y)}} (x+y)(x+3) e^{xy+3x+3y} \end{aligned}$$

-

#28 
$$z = \sqrt{2x^{3} + 5xy + 2y^{2}} = (2x^{3} + 5xy + 2y^{2})^{1/2}$$
  
 $\frac{\partial z}{\partial x} = \frac{1}{2} (2x^{3} + 5xy + 2y^{2})^{-1/2} (6x^{2} + 5y)$ 
  
 $\therefore \frac{\partial z}{\partial x} |_{y=1} = \frac{5}{2\sqrt{2}} (x - y)^{-1/2} (x - y)^{-1/2}$ 
  
 $\frac{\partial z}{\partial x} |_{y=1} = \frac{5}{2\sqrt{2}} (x - y)^{-1/2} (x - y)^{-1/2}$ 
  
 $\frac{\partial z}{\partial x} |_{y=1} = \frac{5}{2\sqrt{2}} (x - y)^{-1/2} (x - y)^{-1/2}$ 
  
 $\frac{\partial z}{\partial x} |_{y=1} = \frac{3x^{2}y^{2} + 2xy + x - y}{2} (x - z)^{-1/2}$ 
  
 $\frac{\partial z}{\partial x} |_{x=0} = \frac{3x^{2}y^{2} + 2xy + x - y}{2} (x - z)^{-1/2} (x - z)^{-$ 

Re-write u as 
$$u = ln(1+r) \left[ \frac{(1+r)^{1-2}}{(1+r)^{1-2}+1} \right]$$
  
 $\therefore u = ln(1+r) \left[ \frac{(1+r)^{1-2}}{ln(1+r)(-1)} \frac{(1+r)^{1-2}t}{(1+r)^{1-2}+1} + \frac{(1+r)^{1-2}t}{(1+r)^{1-2}+1} \right]$   
 $= \frac{ln^2(1+r)(1+r)^{1-2}\left[-(1+r)^{1-2}+t+(1+r)^{1-2}\right]}{\left[(1+r)^{1-2}-t\right]^2}$   
 $= \frac{t(1+r)^{1-2}ln^2(1+r)}{\left[(1+r)^{1-2}-t\right]^2}$  as required.  
 $\frac{1}{28}$   $r_L = r + D \frac{2r}{2D} + \frac{dC}{dD}$  is given  
 $\sum lasticity is n = \frac{7/D}{2r/2D}$ . We verify that  
 $r_L = r \left[\frac{1+n}{n}\right] + \frac{dC}{dD}$   
Solution:  $n = \frac{7/D}{2r/2D} - \frac{2r}{2D} = \frac{r}{Dn}$   
Substitute to get  $r_L = r + D \frac{r}{2n} + \frac{dC}{dD}$ .

#34 Given is  $Z = \frac{x^2 + y^2}{e^{x^2 + y^2}}$  $\frac{\partial z}{\partial x} = \frac{2 \times (e^{\chi^2 + y^2}) - (\chi^2 + y^2) e^{\chi^2 + y^2}}{(e^{\chi^2 + y^2})^2}$  $\frac{\partial z}{\partial y} = \frac{2y(e^{x^{2}+y^{2}}) - (x^{2}+y^{2})e^{x^{2}+y^{2}}}{(e^{x^{2}+y^{2}})^{2}}$  $\begin{array}{c|c} \frac{\partial z}{\partial x} \\ y=0 \end{array} = \begin{pmatrix} 0 \end{pmatrix} \begin{pmatrix} e \\ 0 \end{pmatrix} - \begin{pmatrix} 0 \end{pmatrix} e \begin{pmatrix} 0 \\ 0 \end{pmatrix} = 0 \\ (e^{\circ})^{2} \end{array}$  $\frac{\partial z}{\partial y}\Big|_{y=1} = \frac{2e^2 - 2e(z)}{(e^2)^2} = -\frac{2}{e^2}$ 11 #35 (As an extra solution)  $z = xe^{x-y} + ye^{y-x}$ 1

(3) Amount of an Annuity formula is  

$$S = f(R, r, n) = R \left[ \frac{(4r)^{n} - 1}{r} \right]$$

$$\frac{\partial S}{\partial R} = \frac{(4r)^{n} - 1}{r}$$

$$\frac{\partial S}{\partial R} = R \left[ \frac{n(1r)^{n-1}}{r^{2}} - \frac{(1+r)^{n} - 1}{r^{2}} \right]$$

$$= \frac{R}{r^{2}} \left[ n(1+r)^{n-1} - \frac{(1+r)^{n} + 1}{r^{2}} \right]$$

$$\frac{\partial S}{\partial r} = \frac{R}{r} (1+r)^{n} \ln (1+r)$$

$$\frac{\partial S}{\partial n} = \frac{R}{r} (1+r)^{n} \ln (1+r)$$
(a) Level curves are determined by the equation  $f(x_{1}y) = c_{1} c_{2} (x_{2} + 1)$ 
(b) Level curves are determined by the equation  $f(x_{1}y) = c_{2} c_{2} (x_{2} + 1)$ 
(c) Level curves are determined by the equation  $f(x_{1}y) = c_{2} c_{2} (x_{2} + 1)$ 
(c) Level curves are determined by the equation  $f(x_{1}y) = c_{2} c_{2} (x_{2} + 1)$ 
(c) Level curves are determined by the equation  $f(x_{1}y) = c_{2} c_{2} c_{2} (x_{2} + 1)$ 
(c) Level curves are determined by the equation  $f(x_{1}y) = c_{2} c_{2} c_{2} c_{2} + 1 = 0$ 
hence  $y = x^{2} + 3$  gives the points  $(x_{1}y) \in L(0)$ .
For  $L(-2), c = -2$ , so we get  $x^{2} - y + 1 = -2$ 
hence  $y = x^{2} + 3$  gives the points  $(x_{1}y) \in L(-2)$ .
For  $L(5), c = 5$ , so we get  $x^{2} - y + 1 = 5$ 
hence  $y = x^{2} - 4$  gives the points  $(x_{1}y) \in L(5)$ .
These are graphed together on the next page.



(b) 
$$g(x_{iy}) = f(f(x_{iy}), y) = f(x^{2} - y + 1, y)$$
  

$$= (x^{2} - y + 1)^{2} - y + 1$$

$$= (x^{2} - y + 1)(x^{2} - y + 1) - y + 1$$

$$= x^{4} - x^{2}y + x^{2} - yx^{2} + y^{2} - y + x^{2} - y + 1 - y + 1$$

$$= x^{4} - 2x^{2}y + 2y^{2} - 3y + y^{2} + 2$$

$$h(x_{iy}) = f(x, f(x_{iy})) = f(x, x^{2} - y + 1)$$

$$= x^{2} - (x^{2} - y + 1) + 1 = x^{2} - x^{2} + y - 1 + 1 = y$$
(c) Assume  $x \neq y$  and  $f(x_{iy}) = f(y, x)$   

$$\therefore x^{2} - y + 1 = y^{2} - x + 1$$

$$\therefore x^{2} - y^{2} + x - y = 0 \rightarrow (x - y)(x + y + 1) = 0$$

$$\therefore x \neq y, x - y \neq 0, so x + y + 1 = 0$$

i we have that y = -x - 1 as required.

(d) Now we assume 
$$f(x_{i}y) = x^{2}-y+1$$
 where  
 $x \neq 0$  is the number of onits of X sold and  
 $y \neq 0$  is the number of onits of Y sold.  
 $P = \{(x,y) \mid f(x_{i}y) \neq 0, x \neq 0, y \neq 0\}$   
L(0) was  $y = x^{2}+1$ . We want  $f(x,y) \neq 0$   
which gives  $x^{2}-y+1 \neq 0$  so  $y < x^{2}+1$   
 $\therefore P = \{(x_{i}y) \mid y < x^{2}+1, x, y \neq 0\}$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(0,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$   
 $(1,1)$ 

Here's a sketch of D (Dis shaded) y = 2x+1

(b)  $L(c) = \{(x,y) \mid u(x,y) = c\} = \{(x,y) \mid \sqrt{2x-y+1} = c\}$ 

L(0) gives 2x-y+1 = 0 so y = 2x+1 L (1) gives 2x-y+1=1 so y=2x If c [ los 1] then 12x-y+1 = c gives 2x-y+1=cz so y=2x+1-c2 Sketches of these are below. 62 y= 2x y = 2x (z = 2x + 1) (L(0)) x y = 2x + 1 (L(1)) (L(1)) y = 2x + 1 (L(1)) (L( $-y = 2x + | - c^2$ CE [0,1] "there does NOT exist " Lastly, suppose c<0. For L(c) we consider) U(x,y)=c, so 12x-y+1 = c But 7(x,y) 7: 12x-y+1=c if c=0 because 12x-y+170  $f(x_iy) \in D$ .  $\therefore L(c) = \phi$  if c < 0. c "empty set" ("For All"

(c) 
$$U_{x}(x_{i}y) = \frac{1}{2} (2x - y + i)^{-\frac{1}{2}} (2) = \frac{1}{\sqrt{2x - y + 1}}$$
  
 $U_{y}(x_{i}y) = \frac{1}{2} (2x - y + i)^{-\frac{1}{2}} (-1) = \frac{-1}{2\sqrt{2x - y + 1}}$   
The domains of  $U_{x}(x_{i}y)$  and  $U_{y}(x_{i}y)$  are  
both  $\frac{1}{2} (x_{i}y) + 2x - y + i > 0 = \frac{1}{2} = \frac{1}{2$ 

L(0) .... {(010) }

7

For L(c) where 
$$c \in [1:2]$$
, we consider  

$$F(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} + t^{2}} = c$$

$$f(s,t) = c \longrightarrow \sqrt{s^{2} +$$

## **# 9.**

- (a) Since  $\ln t$  is only defined for t > 0,  $f(x, y) = \ln(x + y 1)$  is only defined if x + y - 1 > 0 or y > 1 - x. Hence the domain is  $D = \{(x, y) \in \mathbb{R}^2 \mid y > 1 - x\}$ . This is the region of the plane above the line y = 1 - x, excluding the line.
- (b)  $f(x,y) = e^{3xy}$  is defined for all pairs (x,y) of real numbers.
- (c) Since  $\sqrt{t}$  is only defined for  $t \ge 0$ ,  $f(x, y) = \sqrt{x + y}$  is defined for  $y \ge -x$ . Hence the domain is  $D = \{(x, y) \in \mathbb{R}^2 \mid y \ge -x\}$ . This is the region of the plane above the line y = -x, including the line.
- (d) Since  $\ln t$  is only defined for t > 0,  $f(x, y) = \ln(9 x^2 9y^2)$ is only define if  $9 - x^2 - 9y^2 > 0$  or  $x^2 + 9y^2 < 9$ . Hence the domain is  $D = \{(x, y) \in \mathbb{R}^2 \mid x^2 + 9y^2 < 9\}$ . This is the region of the plane inside the ellipse  $x^2 + 9y^2 = 9$ , but excluding the ellipse.
- (e) Since the domain of  $\sqrt{1-x^2}$  is -1 < x < 1 and the domain of  $\sqrt{1-y^2}$  is -1 < y < 1, the domain of  $f(x,y) = \sqrt{1-x^2} \sqrt{1-y^2}$  is  $D = \{(x,y) \in \mathbb{R}^2 \mid -1 < x < 1, -1 < y < 1\}$ . This is the part of the plane inside the square  $[-1, 1] \times [-1, 1]$ , but excluding the boundary lines.
- (f) We first note that  $\sqrt{y-x^2}$  is only defined if  $y-x^2 \ge 0$  or  $y \ge x^2$  the region of the plane above the graph of  $y = x^2$ , including the curve  $y = x^2$ . Also  $\frac{1}{1-x^2}$  is only define if  $1-x^2 \ne 0$  or  $x \ne \pm 1$ . hence the domain of  $f(x,y) = \frac{\sqrt{y-x^2}}{1-x^2}$  is  $D = \{(x,y) \in \mathbb{R}^2 \mid y \ge x^2, x \ne \pm 1\}$ . This is the region of the plane above the graph of  $y = x^2$ , including the curve  $y = x^2$ , but excluding the lines x = -1 and x = 1.



У

- # 10.
  - (a) The level curves are parallel lines. The graph of the function is a plane with xy-trace y = -x.

(b) The level curves are circles of radius √c at the origin. Since x<sup>2</sup> + y<sup>2</sup> can never be negative, we can not draw level curves for c = -2 and c = -1. When c = 0, the level curve is only a point. The graph of the function is a paraboloid (bowl) opening upward with vertex at the origin.





z

(c) The level curve for each  $c, c \neq 0$ is a pair of hyperbolas in opposite quadrants of the plane. When c = 0, we get the x- axis and the y- axis. The graph of the function is saddle shaped.







MATA33H

У

(d) The level curves are parabolas. The graph of the function has xy-trace the parabola  $y = x^2$ . Hence it is a parabolic cylinder.

(e) The level curves are ellipses centered at the origin. Since  $x^2 + 2y^2$ can never be negative, we can not draw level curves for c = -2 and c = -1. When c = 0, the level curve is only a point. The graph of the function is an ellipitical paraboloid opening upward with vertex at the origin.



